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Run 4618 quartetwise, Asyms0 (Raw): All
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Run 4618 gquartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 4618 quartetwise, Asyms0 (Raw): Beam OFF
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Run 4618 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 4618 quartetwise, Diffs0: All Run 4618 quartetwise, Diffs0: Beam OFF
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Run 4618 quartetwise, NegHelAccO/NSamples0: All Run 4618 quartetwise, NegHelAccO/NSamplest: Beam OFF

quartetwize_negHQ quanebwise_beamd_neghD
— Entries 26868 [ Entries 3436
2000 — Mean 9.749 180 — Mean 0.8634
— Std Dev 4.062 — Std Dev 01001
1800 — 160 —
1600 140—
1400 = - 120 —
1200 = 100
1000 — -
= 80—
800 — =
[ 60—
600 T ] ~
400 - e
200 20—
D:rl-JI-I—"I"-l_I"-II__L.-I'f"L.I Ly [ L [ 'D_I | [P S ] ] | =
0 2 4 5] & 10 12 14 0.4 . . 1.2 1.4
MNegHelAccD/NegHelNSampleso MNegHelAccO/NegHelNSamplesO
Run 4618 quartetwise, NegHselAccl/NSamplesl: Beam ON, Laser ON Run 4618 quartetwise, NegHelAccl/NSamples0: Beam ON, Laser OFF
quanstwisa baami las? nagHD quanctwisa baami lasl nogHO
so0 — Entries 16090 - Entries 6108
- Mean 12.51 2301 Mean 8.087
n Std Dev 05022 | Std Dev 0.2763
500 — u
| 200 —
400 — u
- 150 —
300 — -
- 100 —
200 — B
100 — 50—
ID_IIIJ_I.-. TN T T TN TN T N T T N T N T N sl T 'D_lll""l"lllll"""""""""'l' N

11 11.5 12 12.5 13 13.5 14 14.5 2 7.4 7.6 7.8 B B2 B4 BE BB 9 92 94
MNegHelAccl/NegHelNSamplesd MNegHelAccO/MNegHelNSamplesD

=4



Run 4618 quartetwise, PosHelAccO/NSamplesC: All
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Run 4618 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 4618 quartetwise, Sums0: All
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Run 4618 quartetwise, Sums0: Beam ON, Laser ON
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Run 4618 quartetwise, Sums0: Beam OFF
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Run 4618 quartetwise, Sums(: Beam ON, Laser OFF
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